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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
were fraIar et Teq f -

(a) In a capitalist economy, the level of
employment depends on

93 <R wLAfee fast AR w1 75 I3
(i) level of aggregate demand

ANES TR @R SRS

(ii) level of aggregate supply
AHET @SR TR €o[S
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(b)

22A/40

(2)

(iii) level of effective demand

i ) PV R E R B

(iv) None of the above
oY OIS T
( Choose the correct option )

( W= [RFace IR Sferean )

Aggregate demand can be expressed as

AT oifE ort FR 1R
(i) D=D,;+D,
(i) D, > D,
(iti) D; <D,
(iv) D=D; -D,

where (8) D = Demand (51fZ1)
D, =Consumer demand (cereR Bifzal) and

(5% D, =Investment demand
(RfFcmarsiza)

( Choose the correct option )

( wm REscn AR Sferear )

When money wage rate is unchanged,
the slope of aggregate supply function is

e w1 TR TR WeARTE, cofour e
QT FoE HFE ]

(i) linear

Re

( Continued )



(3)

(i) non-linear
5-3Rk%
(iii) curved
&
(iv) Any shape
Rz s
( Choose the correct option )

(=7 Rewct AR s )

(d) According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

R o FeE o 15 RIS IR
A ST XA
(i) inverse

R3S

(i) linear

Rs

(iii) non-linear
-l
(iv) both inverse and non-linear
R+ =F 5-cIRT TAGR
( Choose the correct option )

( o7 Reuct MR Sfean )
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(4)

(e) Phillips curve determines
fefeiqr AR Ay T

(i) employment rate
frcmsR 2z[
(i) unemployment rate
(iti) inflation rate
Jarfifed 29
(iv) All of the above
BT ATBIRCPZH!
( Choose the correct option )
(o= Rewc iR Sferea )

(/ What is modified Phillips curve?
Ageige ffeem @ 2

(g0 What is assignment problem according
to Mundell?

Tewed oo migyd IR Tem [ 2
(h) What 1is Dornbusch’s overshooting
model? )

TpR W SRgReR SfECH 3 2
(i} Define international financial market.

gEefes [RaM IS[I A faa |

() What is open economy?

& St 2
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2. Answer the following :

(S)

oo AR Teg

(a)

(b)

(c)

(d)

(e)

3. Answer any four of the following :

Differentiate between spot and forward
exchange rate.

= WF TIS R 9 e o [y
il

Write two constituents of international
financial market.

TrEEfee A8 IX—A 01 Som=a A feran

What are the I-S components of
Mundell-Fleming model?

Teoe-arfi e siey-Rifanr SoameeE &
154

Give two merits of Phillips curve as a
tool of economic theory.

HARST TG %3 o1t ffere(r (M@ o1 89
fo=m o

Define impossible trinity of Mundell-
Fleming model.

od-arfas SR seree @'y i fie o

wed R wiforR Ted forn

(a) What are the factors which cause shifts

22A/40

in the short-run Phillips curve?
QH R IEee TRER  Rfar @R
ARTSAT IRI @ W ?

( Tum Over )
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(6)

() Explain the concepts of rational
expectation in theory and practice.

oifie o IR vao (Afes g9
RO LA 347 |

(c) What is adaptive expectation? Mention

three limitations of adaptive
expectation.

weaie gorn 2 TR RBRE Shrmer
ey 41

(d) How is the exchange rate determined in
a free market? Explain briefly.

T% GRS R 27 s e 30 =, w %
T 40 |

(e) What are the relative importarice of
aggregate demand and aggregate
supply? '

e vtm we aE e R
AT=oifdd g 2

() How can the aggregate supply function
be derived?

AT @A T (@l R 30 = 7
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(7))

4. Answer any four of the following : 10x4=40
T [T viktR Tes fam -

(a) Explain the purchasing power parity
theory. Discuss its limitations.

T HIOH WOl ©Eo] I I | WA

TNR&SPTR S0 F411

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

oofef Serel oAed Oes B S ARSI
R 9o [eA-@ERa A I IoR-
Tfers fi RSCH 0 <441 |

(c) How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

RfrE @R @@ PR o JErdfs
TR T TN I 2 TR A ROmTTR
AT 341 |

(d) What do you mean by effective demand?
What are its determinants? Explain
briefly.

ey o e e @2 TR S
& 2 oY% I A
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

e TRW S TRET @6Me AREe
wdfercrsl SR e 4R $4 =, 34
341 |

() Explain the Dornbusch’s overshooting
theory.

TAIHT " S1RgeR WGLo! T A |

(g) Write a note on monetary approach to
balance of payments (BOP).

T STel (BOP)R ™IS gi2esilia @vqe
Qb1 (oI o4 |

(h) Explain the asset market approach to
determine exchange rate.

Ry 27 AdRe IRAT F=om T qEeA
WL FATN

* % %k
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